STATUS UPDATE OF DGR EMPANELLED SECURITY AGENCIES FOR THE STATE OF GOA

BASED ON DATA UPTO 19 Jun 2025

- 1. Refer MoD/ DESW Guidelines for operation/ functioning of DGR empanelled ESM Security Services vide letter No 28(75) /2020-D/(Res-I) dated 13 May 2021 and Corrigendum No. 28(75)/2020-D(Res-I) dated 23 Jun 2021. The data uploaded herein is compiled duly based on "Reports and Returns' submitted by proprietors & their Principal Employer (including requisitions & sponsorships) to /with DGR/DRZs.
- 2. Number of guards reflected against each agency is subject to minor revision(s) especially Under Negotiation' (U/N) column based on differences (if any) between number of guards sponsored by DGR/DRZs with due date vis-a-vis their materialization as /if/when reported by the Principal Employer/concerned Proprietor (the onus rests with the proprietors to report difference with documentary proofs).
- 3. DGR New Delhi will issue Empanelment Certificate for a duration of Five (05) Years or upto the age of 60 Years (whichever is earlier) as per Para 6(a) of MoD OM 13 May 2021.
- 4. Following documents/ details will produced at the time of issuance / renewal of empanelment certificated (in original):
 - * Aadhar Card
 - * PAN Card
 - * ESM Identity Card (Issued by ZSB)
 - * PSARA license
 - * Affidavit of Security Agency scheme (Original)
 - * Current Bank Account in the name of agency (Copy of passbook duly attested)
 - * Proof of office (Copy of Rent Agreement / Ownership documents & Landline Bill)
 - Mobile number & Email ID
 - * GeM Vendor Code
 - * Form 26 AS will be downloaded in physical at DGR
- 5. "D" denotes "Documentary deficiency/ Violation". Concerned offices may be approached with requisite documents for removal of "D". Proprietors in operation list with remark "D" will not be considered for sponsorship irrespective of Seniority/ WL.
- 6. Proprietor whose Empanelment Certificate is expired/ about to expired is requested to contact respective DRZ for renewal of Empanelment Certificate.
- 7. Proprietor whose security agency has been placed in 'D' are required to submit the pending documents to DRZ(S) by 01 Jul 2025.

(a) Status : Operational Agencies									
S	Emp	Name of Proprietor	Guards Details			Total	Remarks		
No	No		Run	UN	Total	Gds			
' '			ing	0.1	, otal	Months			
1	7423	Clifford Norman Parakh	48	0	85	1812	Gds	Months	Gds
'	1 120	Email –	.0			1012		Wichter	Months
		cnpdgrsecagency@gmail.					18	24	432
		com					3	24	72
		Mob – 9960466447					4	24	96
							6	12	72
		Address: No. 42/D/7, Plot					9	24	216
		No 15, Dicarpali, Navelim,					6	12	72
		Salcete, South Goa,					6	24	144
		Goa – 403 707					5	24	120
							7	12	84
							6	24	144
							6	24	144
							9	24	216
2	7579	Pawan Pal Singh	80	0	80	1596	Gds	Months	Gds
_	7070	Tawaii i ai Siligii				1000		IVIOITITIO	Months
		Email:					03	24	72
		pawanpalsingh@gmail.co					08	12	96
		m					06	12	72
		Mob: 8811018180					17	24	408
		Adress: B 102, Umiya					06	12	72
		Sundance, Zuarinagar,					06	24	144
		Suncoat, Vidya Nagar,					05	24	120
		Vasco Da Gama, South,					7	12	84
		Goa-403726					22	24	528
3	10389	Albert Gomes	23	32	55	1152	Gds	Months	
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Email:				=			Months
		catherinegomes616@yah					06	12	72
		oo.in					09	24	216
		Mob – 8522948280					16	24	384
		Adress - 332/D, Talewadi,					08	12	96
		Paroda, Salcete, South					12	24	288
		Goa, Goa - 403 706					04	24	96
4	10616	Tiji Abraham	0	0	0	0		WL-1	
		Email:							
		tijideepak@gmail.com							
		Mob: 8594096897							
		Add: H. No.332/D, First							
		Floor, Gudi Paroda,							
		Talyawadi, Salcete Goa,							
		South Goa, Goa-403705							

5	10619	Sanjay Ganesh Panda Email: sanjaygpanda@gmail.com Mob No: 9846943046 Address: 181/183/Cl/2, Shop No 1, Shanti Nagar, Near Sanjay Engineering, Vasco Da Gama, Mormugao, South Goa, Goa - 403802	0	0	0	0	WL-2
6	10775	Vandana Chaudhary Email: v.chaudhary4485@gmail.c om Mob: 7727047727 Add: House No. 31, Near Ravalnath Temple, Talarna, Alorna Pernem, North Goa, Goa - 403503.	0	0	0	0	WL-3
7	9793	Ajit Singh Bhadouriya Email: bhadouriyaajitsingh20@g mail.com Mob: 9419211881 Add: 49, Gawaswada, Ibrampur, pernem, North Goa, Goa-403503	0	0	0	0	WL-4

Overage

01	8724	Raman Kakkar	79	0	87	1992	Detail of Availed guards		
							Gds	Months	
									Months
							80	12	96
							12	24	288
							14	24	336
							28	24	672
							80	24	192
							17	24	408

NOTE:-

- (a) EC EMPANELMENT CERTIFICATE EXPIRED
- (b) RA RENT AGREEMENT EXPIRED
- (c) HYSR HALF YEARLY STRENGTH RETURN AS ON 31 DEC 2024 NOT SUBMITTED
- (d) 26 AS FOR 26 AS FOR THE F.Y. 2023-24 NOT SUBMITTED
- (e) PSARA PSARA LICENSE EXPIRED.